D1vISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH 10 Nane:
Time: Score: A

n 5975 + 10 = 16) 6360 =+ 10 =
2 5982 + 10 = m 170 +10 =

3 8831 = 10 = 15) 5493 =+ 10 =
1 3794 + 10 = 19 7794 =10 =
5 6730 = 10 = 200 6004 = 10 =
6 2685 + 10 = 2 2709 + 10 =
N 2913 + 10 = 2) 4203 + 10 =
5 7321 +10 = 23) 2266 + 10 =
9 8082 = 10 = 2 6134 +10 =
1) 8085 + 10 = ) 3597 + 10 =
1) 4229 = 10 = 2600 3158 + 10 =
12) 3663 = 10 = 1) 3425 + 10 =
13 9719 = 10 = 28) 1469 + 10 =
1) 4856 = 10 = 290 1924 = 10 =
15 6738 = 10 = 300 2783 + 10 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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